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 APM-01  

BACHELOR’S DEGREE PROGRAMME (BDP) 

Term-End Examination 

December, 2022 

 

APM-01 : INTEGRATED PEST MANAGEMENT 

Time : 3 hours Maximum Marks : 100 

Note :  Question no. 1 is compulsory. Attempt any  

eight questions from questions no. 2 to 10. 

 

1. (a) Differentiate between the following pairs of 

terms : 52=10 

(i) Oligophagous and Polyphagous pest  

(ii) Cost-benefit and Benefit-risk ratio  

(iii) Pest spectrum and Pest load  

(iv) Repellant and Antifeedant  

(v) Parasite and Parasitoid  
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(b) Define the following terms : 51=5 

(i) General Equilibrium Position (GEP) 

(ii) Plant Health Clinics (PHCs) 

(iii) Mechanical Control  

(iv) Perennial Pest  

(v) IPM  

(c) Match the terms in Column I with those in 

Column II given below :  51=5 

 Column I  Column II 

(a) Piercing and sucking 

mouth parts 

(i) Termite 

(b) Trap crop (ii) Mosquito 

(c) Dieldrin (iii) Snails 

(d) Molluscicide  (iv) Locust  

(e) White ant  (v) Okra  

2. (a) Discuss the nature of damage and 

management of rice stem borer.  5 

(b) Enlist any five pests of stored grains and 

discuss their integrated management.  5 

3. (a) Explain the significance of IFTK 

(Indigenous Farmers Technical Knowledge) 

in pest management.  5 

(b) Discuss use of pheromone trap in managing 

insect-pests.  5 
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4. (a) Define cultural control. Describe any four 

important cultural methods used for pest 

management in brief.  5 

(b) What is pesticide resistance ? How can it be 

managed ?  5 

5. (a) What is a biopesticide ? Discuss important 

microbial pesticides used in pest 

management.  5 

(b) What is Host Plant Resistance (HPR) ? 

Explain the mechanisms of host plant 

resistance.  5 

6. (a) What is quarantine ? Discuss any two 

legislations for its execution in our country.  5 

(b) Explain the concept and utility of Farmer 

Field School (FFS).  5 

7. (a) Discuss the role of IPM in sustainable 

agriculture.  5 

(b) What is an IPM module ? Explain its basic 

components.  5 

8. (a) List any two non-insect pests and write the 

nature of damage caused by them.  5 

(b) Discuss application of simulation models in 

pest management.  5 
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9. Why are insects as pests highly successful ? 

Explain in detail.  10 

10. Write short notes on any two of the following :  25=10 

(a) Major IPM strategies  

(b) Role of transgenic crops in IPM 

(c) Insect growth regulators  
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 E.nr.E_.-01  

ñZmVH$ Cnm{Y H$m`©H«$_ (~r.S>r.nr.)  

gÌm§V narjm 

{Xgå~a,  2022 

 

E.nr.E_.-01 : g_mH${bV nr‹S>H$ à~§YZ 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> :  àíZ g§. 1 A{Zdm`© h¡ & àíZ g§. 2 go 10 _| go {H$Ýht AmR> 

àíZm| Ho$ CÎma Xr{OE & 

1. (H$) {ZåZ{b{IV eãX-`w½_m| _| A§Va ñnîQ> H$s{OE : 52=10 

(i) Aënmhmar VWm {d{dYmhmar nr‹S>H$  

(ii) bmJV-bm^ VWm bm^-Omo{I_ AZwnmV  

(iii) nr‹S>H$ ñnoŠQ>́_ VWm nr‹S>H$ ^ma  

(iv) à{VH$f©H$ VWm nmofUamoYr  

(v) naOrdr VWm naOrì`m^  
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(I) {ZåZ{b{IV nXm| H$mo n[a^m{fV H$s{OE : 51=5 

(i) gm_mÝ` g§VwbZ pñW{V (GEP) 

(ii) nmXn ñdmñÏ` {ZXm{ZH$mE± (PHCs) 

(iii) `m§{ÌH$ {Z`§ÌU 

(iv) ~hþdfu` nr‹S>H$ 

(v) AmB©.nr.E_.  

(J) H$m°b_ I _| {XE JE nXm| H$mo H$m°b_ II Ho$ nXm| go 

{_bmZ H$s{OE : 51=5 

 H$m°b_  I  H$m°b_  II 
(a) doYZ Am¡a MyfH$ _wIm§J (i) Xr_H$ 

(b) nme \$gb (ii) _ÀN>a 
(c) S>mBEpëS´>Z (iii) Km|Ko  
(d) _mobñH$Zmer (iv) {Q>È>r 

(e) ìhmBQ> E|Q> (v) q^S>r  

2. (H$) YmZ VZm doYH$ go hmoZo dmbr j{V H$m ñdê$n VWm 
CgHo$ à~§YZ H$s MMm© H$s{OE &  5 

(I) ^§S>m[aV AZmO Ho$ {H$Ýht nm±M nr‹S>H$m| H$mo gyMr~Õ 
H$s{OE Am¡a CZHo$ g_mH${bV à~§YZ H$s MMm©  
H$s{OE &  5 

3. (H$) nr‹S>H$ à~§YZ _| IFTK ({H$gmZm| H$s Xogr VH$ZrH$s 
OmZH$mar) Ho$ _hÎd H$s ì`m»`m H$s{OE &  5 

(I) H$sQ>-nr‹S>H$m| Ho$ à~§YZ _| \o$amo_moZ Q>́¡n Ho$ Cn`moJ H$s 
MMm© H$s{OE &  5 
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4. (H$) gñ` {Z §̀ÌU H$mo n[a^m{fV H$s{OE & nr‹S>H$ à~§YZ 

_| à`wº$ {H$Ýht Mma àH$ma H$s _hÎdnyU© gñ` 

{Z`§ÌU nÕ{V`m| H$m g§jon _| dU©Z H$s{OE &  5 

(I) nr‹S>H$Zmer à{VamoY Š`m hmoVm h¡ ? BgH$m à~§YZ {H$g 

àH$ma hmoVm h¡ ? 5 

5. (H$) O¡dnr‹S>H$Zmer Š`m hmoVm h¡ ? nr‹S>H$ à~§YZ _| à`wº$ 

_hÎdnyU© amoJmUwH$ nr‹S>H$Zm{e`m| H$s MMm© H$s{OE &  5 

(I) nanmofr nmXn à{VamoY Š`m hmoVm h¡ ? nanmofr nmXn 

à{VamoY H$s H$m`©{d{Y H$s ì`m»`m H$s{OE &  5 

6. (H$) g§JamoY Š`m hmoVm h¡ ? h_mao Xoe _| Bgo H$m`m©pÝdV 

H$aZo Ho$ {bE {H$Ýht Xmo {dYmZm| H$s MMm© H$s{OE &  5 

(I) {H$gmZ IoV ñHy$b (FFS) H$s g§H$ënZm VWm 

Cn`mo{JVm H$s ì`m»`m H$s{OE &  5 

7. (H$) gVV H¥${f _| IPM H$s ^y{_H$m H$s MMm© H$s{OE & 5 

(I) IPM _m°S>çyb Š`m hmoVm h¡ ? BgHo$ AmYma ŷV KQ>H$m| 

H$s ì`m»`m H$s{OE &  5 

8. (H$) {H$Ýht Xmo µJ¡a-H$sQ>-nr‹S>H$m| H$mo gyMr~Õ H$s{OE  

Am¡a CZgo hmoZo dmbr j{V Ho$ ñdê$n H$mo g§jon _| 

{b{IE & 5 

(I) nr‹S>H$ à~§YZ _| AZwH$ma {ZXem] Ho$ AZwà`moJ H$s 

MMm© H$s{OE &  5 
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9. H$sQ> nr‹S>H$ Ho$ ê$n _| BVZo g\$b Š`m| h¢ ? {dñVma go 

ì`m»`m H$s{OE &  10 

10. {ZåZ{b{IV _| go {H$Ýht Xmo  na g§{jßV {Q>ßn{U`m±>  

{b{IE :  25=10 

(H$) _w»` IPM `w{º$`m± 

(I) IPM _| nmaOrZr \$gbm| H$s ^y{_H$m  

(J) H$sQ> d¥{Õ {Z`m_H$  

 


